

1. الف)  $\left. \begin{array}{l} 1 \quad | \quad \omega \\ 1 \quad | \quad -\nu \end{array} \right\} \begin{array}{l} ax+b=y \rightarrow ka+b=p \\ \omega a+b=-\nu \end{array} \rightarrow \begin{array}{l} a=-k \\ b=1\omega \end{array} \rightarrow -kx+1\omega=y$

ب)  $\nu y + \epsilon x = -1 \rightarrow \nu y + \epsilon x = c' \xrightarrow{1 \quad | \quad \epsilon} k + \nu k = c' \rightarrow c' = \nu\omega$

$\nu y + \epsilon x = \nu\omega \rightarrow y + \omega x = 1k \rightarrow y = 1k - \omega x$

ج)  $x + \omega y = 1 \rightarrow -\frac{x+1}{\omega} = y \xrightarrow{m=-\frac{1}{\omega}} m' = \omega \rightarrow \omega x + b = y \xrightarrow{1 \quad | \quad \epsilon} 1\omega + b = \nu \rightarrow b = -1$

$\omega x - 1 = y$

د)  $\tan \frac{\pi}{\omega} = \sqrt{\omega} \rightarrow \sqrt{\omega} x + b = y \xrightarrow{1 \quad | \quad \epsilon} k\sqrt{\omega} + b = \nu \rightarrow b = \nu - k\sqrt{\omega}$

$\sqrt{\omega} x + \nu - k\sqrt{\omega} = y$

2. الف)  $\sqrt{\frac{(k+1)^p}{9} + \frac{(\omega-\nu)^p}{19}} = \sqrt{p\omega} = \omega$

ب)  $\left. \begin{array}{l} \omega x + \epsilon y = \omega \\ 1 \quad | \quad \nu \end{array} \right\} \rightarrow \frac{|\frac{\nu}{\omega} + \omega \times k - \omega|}{\sqrt{9+19}} = \frac{1\omega}{\omega} = k$

$kx + \epsilon y = 1$   $\downarrow$   $\begin{array}{l} \nu x + \omega y = \epsilon \\ kx + \epsilon y = 1\omega \end{array}$

3. الف)  $kx + \epsilon y = \frac{c+c'}{\nu} \rightarrow$

$kx + \epsilon y = \frac{1+1\omega}{\nu} \rightarrow \boxed{kx + \epsilon y = 1}$

ب)  $\frac{|1\omega - 1|}{\sqrt{19 + \omega^2}} = \frac{k}{\sqrt{\omega^2}} \rightarrow \frac{\omega \sqrt{1\omega}}{\omega^2} = \frac{\omega \sqrt{1\omega}}{1\omega}$

$\downarrow$   
 $\nu \times \nu \times 1\omega$

$$kx - py = 1$$

$$px + ky = k$$

$$\frac{|kx - py - 1|}{\sqrt{q+k}} = \frac{|px + ky - k|}{\sqrt{q+k}} \rightarrow$$

.4

$$kx - py - 1 = px + ky - k \rightarrow x + p = \omega y \rightarrow \boxed{\frac{x}{\omega} + \frac{p}{\omega} = y}$$

$$kx - py - 1 = -px - ky + k \rightarrow \omega x - k = -y \rightarrow \boxed{y = k - \omega x}$$

$$\tan \alpha = \frac{|m - m'|}{1 + mm'} \rightarrow \frac{|p - \omega|}{1 - q} = \left| \frac{\omega}{-q} \right| = +1 \rightarrow \tan \alpha = \pm 1$$

.5

$$y + kx = k \quad y - px = \omega \rightarrow y = \omega + px$$

$$y = k - kx$$

$$\alpha = \frac{k}{\omega}$$

$$\sqrt{\frac{(k - \omega)^2}{qk} + \frac{(-p - k)^2}{kq}} = \sqrt{1 + 0} = 1.$$

6. الف

ب. 1

$$\frac{k - \omega}{p} = -1 \quad \frac{k - p}{p} = 1$$

$$\frac{k - p - 1}{k} = -k$$

$$\frac{1 + k - 1k}{k} = -k$$

7. الف

$$\frac{1}{p} \times \begin{vmatrix} k & -p & -1 \\ 1 & k & -1k \\ 1 & 1 & 1 \end{vmatrix} = \frac{1}{p} \times 99 = k \wedge$$

ب.

$$9 - 1 + k - (-k) = 99$$

$$y \rightarrow -y \rightarrow -y = \frac{px+1}{kx-k} \rightarrow y = \frac{-1-px}{k-kx}$$

(الف)

$$x \rightarrow -x \rightarrow y = \frac{-px+1}{-kx-k}$$

(ب)

(ج)

$$\begin{matrix} y \rightarrow x \\ x \rightarrow y \end{matrix} \rightarrow x = \frac{py+1}{ky-k} \rightarrow kxy - kx = py+1 \rightarrow kxy - py = kx+1 \rightarrow$$

$$y(kx-p) = kx+1 \rightarrow y = \frac{kx+1}{kx-p}$$

$$\begin{matrix} y \rightarrow -x \\ x \rightarrow -y \end{matrix} \rightarrow -x = \frac{-py+1}{-ky-k} \rightarrow x = \frac{+1-ky}{ky+k} \rightarrow kxy + kx = +1 - ky \rightarrow$$

$$kxy + ky = -kx+1 \rightarrow y(kx+k) = -kx+1 \rightarrow y = \frac{-kx+1}{kx+k}$$

$$\begin{matrix} x' = x - p \rightarrow x = x' + p \\ y' = y + k \rightarrow y = y' - k \end{matrix} \quad \begin{matrix} 9. \text{ الف} \\ y' - k = \frac{p(x'+p)+1}{(x'+p)-k} \rightarrow y' - k = \frac{px' + p + 1}{x' - 1} \rightarrow \end{matrix}$$

$$y' = \frac{px' + 1}{x' - 1} + k \rightarrow y' = \frac{px' + 1 + kx' - k}{x' - 1} \rightarrow \boxed{y' = \frac{p + kx' + 1}{x' - 1}}$$

$$x = x' + k$$

$$x' = x - k$$

$$\begin{matrix} y' = y - p \rightarrow y' + p = \frac{k(x'+k)+1}{(x'+k)-k} \rightarrow y' + p = \frac{kx' + k + 1}{x'} \rightarrow \\ y = y' + p \end{matrix}$$

$$y' + p = \frac{kx' + 1}{x'} \rightarrow y' = \frac{kx' + 1 - px'}{x'} \rightarrow \boxed{y' = \frac{1 - kx' + 1}{x'}}$$

(د)

$$10x + ky = P$$

10. الف

$$x - 10y = 1 \rightarrow 10x - 100y = 10 \quad (-) \rightarrow 19y = -1 \rightarrow y = -\frac{1}{19}$$

$$10x - \frac{10}{19} = P \rightarrow 10x = + \frac{10P}{19} \rightarrow x = + \frac{1P}{19}$$

ب

$$x = - \frac{k + 10}{-10 - k} = + \frac{10}{19}$$

$$y = \frac{10 - P}{-10 - k} = - \frac{1}{19}$$